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AL 15 5H [ 75 81 oH 108 115 25 15 25 3H i 5
M (EER) XD 5 5,243 5,496 4,815 2,091 5,143 4,825 5,159 35,672 5,006
- A & kg 4,910,490 5,214,700 4,531,650 5,490,820 5,443,170 5,001,810 5,024,830 35,617,470 5,088,210
M H (B ER) BABK = 3,377 3,413 3,395 3,518 3,486 3,302 3,541 24,032 3,433
- WA= kg 2,821,540 2,849,620 2,753,220 3,055,850 3,020,390 2,803,160 2,884,630 20,188,410 2,884,059
R - 2 o TAGK & 7 3 0 0 0 3 3 27 3
IRTH(—MER) WA= kg 3,670 2,590 0 0 0 3,820 8,390 18,470 2,639
o = 2 it NS 5 27 26 24 39 43 83 22 284 21
IRTH(RHER) PN kg 13,480 13,990 9,370 20,040 12,240 25,550 15,720 110,390 15,770
K - 7 (1% N — NS B 38 71 81 93 103 189 199 774 111
FIRIH(mMm— &) [N k 7,820 13,220 15,390 28,400 21,870 38,120 44,140 168,960 24,137
s &' 5 - % NS 5 83 69 85 o4 82 77 89 579 83
B A & k 110,080 98,160 119,630 116,930 104,820 89,470 107,340 746,430 106,633
pe ARG & 55 62 52 55 55 48 50 377 54
WA & kg 36,660 54,880 38,620 39,070 36,430 33,800 40,160 279,620 39,946
T BmEE A RS 5 158 166 126 118 112 110 135 925 132
WA= kg 124,630 146,280 90,310 89,430 88,130 87,840 109,360 735,980 105,140
= p * N B 3 3 5 ) 5 8 71 3
- N k 8320 7.520 7.040 5,900 5.830 10110 11,250 55,970 7.9
= st TR ZX = 8,994 9,315 8,583 8,912 9,029 8,64 9,231 62,711 B,
= i WA & kg 8,036,690 8,400,960 7,565,230 8,846,440 8,732,880 8,093,680 8,245,820 57,921,700 8,274,529
S o< N T 72 2 73 99 89 50 89 574 82
AR E O ESTED) AR I 161 231 259 282 221 211 216 1.581 226]
= B ThH X &= U 233 323 332 381 310 271 305 2,155 308
2 ISAE
EEhL 15 5B [ 75 81 ED:) 108 115 [PR:] 15 25 3H =T 5]
TH &1D) =% T,132.51 T1,623.61 3,240.15 3,185.12 1,856.88 3,302.63 3,388.43 17,729.33 2,532.76
. 25% v/A 3,108.60 1,763.67 3,234.18 3,574.61 2,294.14 2,632.86 2,133.83 18,741.89 2,677.41
3% 3.205.01 1.782.40 3.301.10 3.035.02 3.600.03 3.446.86 3.503.23 21.877.64 3
&5 & 7,447.02 5,172.77 0,775.43 3,794.75 7,751.05 35,382.35 5,025.49 T8,348.86 8,3%%
3
7B 81 ER:l 108 1115 215 TH 25 385 T
SRR T 1,267 1,262 1,277 1,275 1,262 1,267 1,273 1,269
15% ECABAONRE T 186 183 184 185 178 185 185 184
BEIATOCORE ppm i1 24 10 14 12 i1 i5 14
S T 1,286 1,286 1,290 1,276 1,258 1,282 1,283 1,280
25% ECABAONARE o 180 182 184 184 178 186 185 183
EE ppm 14 13 10 13 11 i1 10 12
= T 1,305 1,300 1,310 1,268 1,273 1,278 1,280 1,288
38% = ZRE T 182 183 186 186 186 187 186 185
FHIZPOCORE ppm 11 14 18 12 11 11 15 13
(&S5 #F1[E)
BRULBOCAOR =R o]
5% 25% 35
[Pe— ] THI13H~21H
: I1J31Y S5H18H~21H
N - TS~ SH20H~21H
BN ARG AERLE SE2H
5 S i1 HIE  (F4m)
= 153 175 5H 6 1 75 8 1 ER:] 10 111 25 ;] 25 35 T ]
S| — — 6H8H — — SH3H — =
15% AR — — 78178 — — 10A8H — —
FAAES AR ng-TEQ/mN — — 0.0035 — — 0.00072 — 0.0021
TRERE — — = 6H4H = = = = =
25% AR — — 7A17H — — — — —
A ABRE ng-TEQ/mN = = 0.0011 = — — — 0.0011
TRERE — — — 6H5H — — 10H38H — —
38% AERERE — — 78178 — — 7A17H — —
TAAFS SREE ng-TEQ/mN — — 0.0044 — — 0.00067 — 0.0025
6 EQRE 2%IREE)
45 5H ;] 7B 8 1 ERz] 10 5 118 [PR:] TH 2B ED:] ¥ 1
TRERE = 78 =] 2H = 30 25 =
AR 310 28H 316 20H 306 -
125 FUCARE g/mN = 0.001  *m 0.001 % 0.001 % - 0.001 % 0.001 % 0.001 i
™ TR IR ppm - 1.0 1.0 % 1.0 % - 1.0 %1 1.0 *a 1.0 i
ERB DR ppm - 18.0 11.0 13.0 - 14.0 14.0 14.0
EEKRRE ppm — 5.0 5.0 5.0 — 5.0 8.0 5.6
S| 3H 7H ZI=] 3H 6H = 3H -
AR 2580 310 28H 31H 29H - 30H -
r2% FUCAEE g/mN 0.001 *% 0.001 * 0.001 ki 0.001 %% 0.001 *% - 0.001 * 0.001 _*i
™ B CRE ppm 1.0 %% 1.0 *m 1.0 *m 1.0 *® 1.0 %% - 1.0 %= 1.0 %
= EE ppm 14.0 18.0 17.0 17.0 19.0 - 17.0 17.0
ppm 6.0 9.0 6.0 6.0 5.0 — 10.0 7.0
E1s] 8H 5H 1] 78 E1E] = =
AIERERE — 25H 310 28H 318 29H 2085 - -
3=% FOCARE g/mN 0.001 %% 0.001 %@ 0.001 *i& 0.001 ki 0.001 %% 0.001 %% - 0.001 i
- REBCIEE ppm 1.0 x%& 1.0 *%& 1.0 %% 1.0 %% 2.0 1.0 *%& - 1.2 %%
ERBCDRE ppm 21.0 17.0 15.0 17.0 18.0 18.0 - 17.7
EOKEEE ppm 11.0 5.0 10.0 8.0 15.0 7.0 = 9.3



